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Starter – which project would you choose?
	Project 1: A new warehouse which will mean you can double your capacity

	

	Project 2: A new marketing campaign which will double sales

	

	Project 3: Research into new products which will give you an edge in a highly competitive technical market place

	



Write a definition of investment appraisal here:
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
[image: ]Investment appraisal – planning process
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Investment appraisal – decision making
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Payback explained
· A business needs to decide which project or proposal to invest in.  
· It cannot afford all four so it will have a number of methods to work out which one it should spend the money on.
Technique
1) Calculate which year the cost of the project is paid back e.g. £80,000 cost, pays back £40,000 yr 1 and £40,000 yr 2 = 2 years 
2) If it’s part of a year then find what is needed from what is left and multiply by 12
e.g need to find £20,000 from £50,000     20/50 x 12 = 4.8 round up to give 5 months

Payback calculation
	Cash flows (£000s)
	Proposal 1
	Proposal 2
	Proposal 3
	Proposal 4

	Year 0
	-£120
	-£95
	-£80
	-£160

	Year 1
	£80
	£10
	£30
	£30

	Year 2
	£40
	£40
	£40
	£50

	Year 3
	£40
	£40
	£30
	£90

	Year 4
	£20
	£60
	£30
	£80

	Year 5
	£40
	£50
	£20
	£60

	When does the project payback?

	
	
	
	




Which proposal is paid back in the quickest time?

ARR Explained
· Payback is very simplistic tool and only looks at when the project will pay back and does not take into account rate of return
· So, a business can also use the ARR system which looks at the average rate of return of the projects
Technique
1) Add all the inflows for all the years of the project
2) Remove the original cost of the project
3) Divide this figure by the number of years the project runs for
4) Now divide this by the cost of the project
5) Now multiple the result by 100 to get a %
	Cash Inflows (£000s)
	Proposal 1
	Proposal 2
	Proposal 3
	Proposal 4

	Year 0
	-£120
	-£95
	-£80
	-£160

	Year 1
	£80
	£10
	£30
	£30

	Year 2
	£40
	£40
	£40
	£50

	Year 3
	£40
	£40
	£30
	£90

	Year 4
	£20
	£60
	£30
	£80

	Year 5
	£40
	£50
	£20
	£60

	ARR
	
	
	
	




Which proposal gives the highest rate of return?


NPV Explained
· Once a business has looked at the payback period for a set of projects and then looked at the ARR they may need to look at the NPV
· This is the net present value and it takes into account that money in the future is not worth what it is today – so it adds in a discount table to make it more realistic
Technique
1) You get a discount table to make the value of the money more realistic e.g. 20% this is given to you in an exam
2) Multiply each cash inflow by the discount, this will give a NPV value
3) Add all the NPV values together and then minus the cost of the project
4) The best result is the highest NPV value proposal
	[bookmark: _GoBack]Cash Inflows 
(£000s)
	
	Proposal 1
	Proposal 2
	Proposal 3
	Proposal 4

	Year 0
	1.00
	-£120
	-£95
	-£80
	-£160

	Year 1
	0.833
	£80
	£10
	£30
	£30

	Year 2
	0.694
	£40
	£40
	£40
	£50

	Year 3
	0.579
	£40
	£40
	£30
	£90

	Year 4
	0.482
	£20
	£60
	£30
	£80

	Year 5
	0.402
	£40
	£50
	£20
	£60

	NPV value
	
	
	
	
	


	

Limitations of Investment Appraisal

	Payback limitations
	





	ARR limitations
	






	NPV limitations
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ExtractH
Jaguar Land Rover breaks new profits records with £2.6bn announcement

Midland manufacturing giant Jaguar Land Rover has clocked up another motoring
milestone - with mammoth profits of more than £2.6 bllion.

“The Tata Motors-owned firm announced revenues of £21.86 bllion for the year, up by
£248 billion in 12 months.

JLR said the record profits marked a ffth successive year of solid growth, robust financial 5
results and continuous investment in ts future!

High points for 2014/15 included the unveiling of three Jaguars,the all-new XE and
F-PACE and the new XF, plus the start of sales of the al-new Land Rover Discovery Sport.

In October 2014, the Queen formally opened Jaguar Land Rover's Engine Manufacturing
Centre at Wolverhampton, a £500 millon complex which will employ 1,400 workers. Net 10
Cashflows e expected to be s follows:

Year 1 £80m
Year2 £85m
Year3 95m
Yewrd | £100m
VeS| £110m
Yewr6 | £120m
Year7 | f£l40m
Ve8| f£140m
YearS | £120m
Year10 | £110m

In the same month, the company opened s first ever overseas manufacturing failty in
‘Changshu, China. Construction of s second overseas plant, in Braz, started in December.

I March 2015, Jaguar Land Rover confirmed £600 milion of investment n the West
Midiands, incliding £400 millon at Castie Bromwich in support of the introduction of the 15
allnew Jaguar XF. The company aniicipates that the Jaguar XF project willpay for tsefin

20 years with an average rae of returm of 8%.

(Source adapted from: hitp/snww birminghampost.cork/business business news/
aguarland-rover breskenev 9332705, May 2015)
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Before making the investments Jaguar Land Rover would have considered the likely
success of the two projects. As wella the payback period and the Average Rate of
Returm (ARR) they wouid have considered both thefimitations of these techniaues
and other factors.

(d) Using the information in Extract H and appropriate calculations, evaluate the
potential investments at Wolverhampton and Castle Bromwich considering both
financial and other factors.

Recommend which project islikely to be the most successful investment for
Jaguar Land Rover.
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The following information could be used to help Superdry’s managers perform an
investment appraisal of their decision to buy the lease of the Regent Street store
(Evidence I).

Table 1

Year Net Cash Flow
-£12m

£2m

£3m

£3m

£4m

vis|lw|iv|=|o

£5m

(@) Using the data in Table 1, calculate the Payback Period and the Average Rate of
Return.
(4)
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